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ABSTRACT : This research have objective for studies about capacities of compressive strength of Blockprasan and grout mortar 
workability at different ratio. The apparatus follow \Standard for Masonry Building_ (E.I.T. Standard 1005-18) make Blockprasan prism 
by 2 bricks per layer switch direction every layer use bricks 5 layers height/thickness equal 2 was correction factor 1. The prism connect by 
grout mortar use mixed ratio Portland cement 1 per sand 2 by used two type of sand are fine sand and coarse sand every ratio mixed at w/c 0.6, 
0.8 and 1.0 keep mortar cube. Curing prism 28 days test compressive strength and suggestion workability in prism. The result show that the 
workability have strongly for capacity of compressive strength of Blockprasan prism. At the grout mortar mixed ratio 1:2 with coarse sand and 
w/c 0.8 the Blockrasan prism have maximum compressive strength.    
 
KEYWORDS : Interlocking block compressive strength, Blockprasan grouting, Interlocking block grouting,  Grouting 
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 =+	���-�	��+	�.� ก1������23���8 
-ก�7��,�
�	�กก
��ก1����3��
�+2������ 7��+��-��� ��.�3�� ��1�
-���ก�� 140 ksc. )�กก��
�)��$�
���8 -ก�7��,�����+�
 �8 ���
�������� 1: 2 =+	 �1���� w/c 0.8 �������:/		����ก1������2+8�+�2
- .���)�ก�8 -ก�7��,	�ก1����-$���$� ���ก��6��3���8 -ก�7��,
-�l 6���������
*/�0 ก7� ��4�ก���+�  2���+2�0 '�$���6 
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]�@��� 6 ก��6��-�.��	���+� ก� ��������
*/�3���8 -ก�7��,0 ก7� ��4�ก
���+�  

 

ก��6��-�.��	���+� 3���8 -ก�7��,*/��	7)�6��627���
*/�
�����6� ���ก��-�.��	���+� 6	�	�����1�0�7-ก�2-�4	� 7�+�	=�+ 
6272���+2�0 '�$���7 2�� �� ก��*���������
���ก7� ��4�ก
���+� 0 �������:/	)/�6	�627-ก�2-�4	� 7���2ก7� ��4�ก -�l 
+�-���0�7ก1������23���������:/	��4�ก���+� )�	������1�ก
��
ก1������23��ก7� ��4�ก���+�  

 

 
]�@��� 7 ก��6��-�.��	���+� ก� �����6	����
*/�3���8 -ก�7��,0 ก7� 

��4�ก���+�  

 

-	.��$�)��B����ก1������23��
�+2�����9��� 1�	����ก��-�l 
�������:/	��4�ก���+� )�$�
��� 

 7	3��ก1������20 ����
���:/	��4�ก���+� )�3/� ��8�ก���
�	�34����3���8 -ก�7��,�.�
*7��8 -ก�7��,	�ก1������2+8� �������:/	ก4	�� 

 7	���)�	�ก1������2
+8���	6�27
� �����ก�m))�����+��=������	�กก4�.�ก��6��6273��
�8 -ก�7��, -$���0 ก�B����=+	 �1���� w/c 0.6 */��	7ก1����3���8 
-ก�7��,+8�)��� ���ก��6��6	����
*/�)/��1�ก1������23���������:/	
��1�ก
��ก��-ก�7��,27
��8 =+	 �1� w/c 0.8 2���+2�0 '�$��� 8 

 

กําลังอัดจากวัสดุตางๆ

0

20

40

60

80

100

120

140

160

180

200

ละ
เอ
ียด

1ต
อ2

ละ
เอ
ียด

1ต
อ3

ละ
เอ
ียด

1ต
อ4

หย
าบ

1ต
อ2

หย
าบ

1ต
อ3

หย
าบ

1ต
อ4

กําลังบล็อกประสาน

กําลังปูนเกราท0.6

กําลังปูนเกราท0.8

กําลังปูนเกราท1.0

ปริซึมเกราทw/c0.6

ปริซึมเกราทw/c 0.8

ปริซึมเกราทw/c 1.0

 
]�@��� 8 ก1����3��
�+2�����9��� 1�	����ก��-�l �������:/	 

 
-	.��$�)��B�����
�	+�	��*0 ก�����ก1������2��	

����-
��ก����	)�$�
��ก1������23���������:/	)�-$��	3/� �����
�
2-�4
0 ��
� 7 
� ��ก �������)�ก �� ก��<���ก1������2)�	����
-$��	3/�  7��	�ก +�-������ก- .���)�ก0 ��
� 7 
� ��ก���ก1����
��23���8 -ก�7��,�����1�ก
�����ก1������23����4�ก���+� ก��
�����
)/�-ก�20 ��
�8 -ก�7��, -	.������-
��ก����	-$��	3/� ก1������23��
�8 -ก�7��,	�ก3/� �1�0�7���ก1������23���������:/	+8�3/� ��	6�
27
� �������)�ก 7 
� ��7
 ���ก1������23���8 -ก�7��,)�+8�ก
�����
ก1������23����4�ก���+� 2�� �� 0 ก���2+��ก��
�����3��
�������:/	)�-ก�23/� ���ก7� ��4�ก���+�  2�� �� ����-
��
����)�ก 7 
� 6���7
���ก1������23���������:/	)/ �	�ก��
-����� ����6� 7��	�ก- .���)�ก��
��4�ก���+� 	����
�
�	+�	��*0 ก�����ก1������2-���ก�  ���ก��-�.��	���+� 27
�
�8 -ก�7��,+8�������ก����ก� )��1�0�7ก���/2-� ���
 ���ก��+��
*���������
���� 7�+�	=�+����ก�  2�� �� �������-
�����	�กก
�� 7 

�  ก1������23���������:/	���0�7�8 -ก�7��,+8��-2��
ก� )�	����
�
�	+�	��*0 ก�����ก1������2����ก�  7��	�ก ���*7�0�7�8 -ก
�7��,� ��+8�� ก1������2)�	��
�	��ก����ก� ��	�
�	+�	��*
0 ก�����ก1����3���8 -ก�7��, 

�
�	+�	��*0 ก�����ก1����3���������:/	��� -�.��	
���+� 27
��8 -ก�7��,���=+	 �1�27
� w/c 1.0 ��ก�����+�
 =+	
3������)�$�
���
�	+�	��*0 ก�����ก1������23���8 -ก�7��,
)���1�ก
��ก1������23��ก7� ��4�ก���+�  2�� �� 0 ก���2+��
ก1������2 ก��
�����)�-ก�2�����
�8 -ก�7��,+��=�0�73B�-ก�2ก��
�����
)�-ก�2ก��$�������� ��-$���
�+2�-�.��	���+� 6	�+�	��*�/2
-� ���
ก7� ��4�ก6
7627 2���+2�0 '�$��� 9 ���10 
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]�@���10 ก��
�����3���8 -ก�7��,���-�.��	���+� �1�0�7ก��
�����3����4�ก

���+� -ก�23/� ����� ���� 02 
 

0 ก��0�7�� )����
�-�.�ก0�7+8���8 -ก�7��,���	�ก1����
	�กก
����4�ก���+� -$.��0�7��
�8 -ก�7��,���+�	��*���ก1���� 
����/2-� ���
ก7� ��4�ก���+� 6
7627*/��	7��4�ก���+� )�	�
ก����ก�7�
 - .���)�กก����ก�7�
)�-�l +���-�.� */��
�	6	�
���2'��0 ก��0�7��  ������	� -
��$�0 ก���7��+���3�� 
+���	���
����ก)�ก�����627 :/������)�กก��
���������� ���� 02���
 ��
��-�l +������-�l �� ���������	�ก - .���)�ก)�6	�	�+�nn�B
-�.� ก�� -ก�2ก��
�����- .���)�ก��4�ก6	�	�ก����ก�7�
���-	.�����
ก1����) -ก�2�
�	+�	��*��7
)�-ก�2ก����ก�7�
�����-��2��ก
�� �� 2�� �� 0 ก��0�7�� )���6	��
�0�7�8 -ก�7��,+8��2��ก���
 

 

5. ��O�\�ก����B�$ 
1. �8 -ก�7��,+8�� �8 �����������-���ก�� 1: 2 =+	 �1���� w/c 0.6 
)�	�����
�	+�	��*0 ก�����ก1������2���2����+�2
2�	����ก�����
ก1������2-���ก�� 182 ksc.  
2. �8 -ก�7��,+8�� �8 ���������-���2-���ก�� 1: 4 =+	 �1���� w/c 
1.0 )�	�����
�	+�	��*0 ก�����ก1������2���2����+�2
2�	����ก��
���ก1������2-���ก�� 68 ksc. 
3. ก1������23��ก7� ��4�ก���+� ���0�70 ก���2+��	����
�
�	+�	��*0 ก�����ก1����-o����-���ก�� 127 ksc. 
4. �
�	+�	��*0 ก�����ก1������23���������:/	��4�ก���+� 
)�	�ก1������2-$��	3/� ������
2-�4
0 ��
� 7 
� ��ก ����)�ก �� 
ก1������2)�-$��	3/�  7��	�ก 
5. �
�	+�	��*0 ก�����ก1������23���������:/	��4�ก���+� 
	����+8�+�2-	.��-�.��	���+� 27
��8 -ก�7��,+8�� �8 ���,��� 2,
�����������-���ก�  1: 2 ���=+	 �1�27
� w/c 0.8 
2�	����
�
�	+�	��*0 ก�����ก1������2-���ก�� 38 ksc. 
6. �������:/	��4�ก���+� )�	�����
�	+�	��*0 ก�����ก1����
��2�2��)�กก1������2���ก7� - .���)�ก=�3��ก��+��*������3��
� 7�+�	=�+ :/��3/� ก���
�	+�	��*0 ก��6��6273���8 -ก�7��, 
7. �8 -ก�7��,+8�� �8 �����������-���ก�� 1: 2 =+	 �1���� w/c 0.8 
-�l +8����� -�	��+	���+�20 ก��0�7�� )��� - .���)�ก	����
�
�	+�	��*0 ก�����ก1������2���+8�ก
��ก7� ��4�ก���+�  
���	��
�	+�	��*0 ก��6��-�.��	���+� 627-�4	� 7�+�	=�+ 
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